Parts for Indexable Tools

HEZBNTER B

U (SCREW)

2 BFmId—R fﬁﬁl\{bﬁ ~ & Size(mm) BRETIE
pvirg==| = astening torque =<
Shape (ﬁljﬁqﬂ?%’cz) (N-m) a ob c d e f Apply to tools
261-140 1.1 |M3X0.5 4.0 5.7 T8
501-161 | 2.9 |Max07 | 541 | 7.5 il L
541-161 9.8 |M6x1.0 8.0 17.6 T25 |ASV
240-140 0.5 |M.8x035 2.5 3.8 T6 ASM,ASMM,ARM
261-141 2.0 |M3x0.5 4.2 9.0 T10 | BCF,BCFM
262-141 2.9 |M4x0.7 5.5 11.0 T15 | BCF,BCFM,ASB
262-142 2.9 |M4x0.7 5.5 9.5 T15 | ASRT,ASRF,AHR,RV,ARVM,AR,ARB,ASV
263-141 4.9 |M5x0.8 7.2 12.5 T20 |ARB,ASJ,ASV,BCF,BCFM,AJU
263-143 4.9 |M5x0.8 7.2 11.0 T20 | ASV,ASB,BCU,AJU
265-141 2.0 |M3x0.5 4.2 7.5 T10 | RV,ARVM,ASV,AME,ASJ
265-143 2.0 |M3x0.5 4.2 6.3 T10 | AHJ,AHIJM
223-141 4.9 |M5x0.8 7.0 11.5 T20 |AR,ARB
242-141 2.9 |M35x06| 5.0 6.3 T15 | ASR,ASRM,ASRT,ASRTM,UEX,AJU
242-143 2.9 [M35x06| 5.0 12.0 15IP | AFE45
250-140 0.5 |M2x0.4 3.0 4.2 T6 AHJ,AHJM,ASJ
ASR%% ,ASRM%3 , ARM,AHU,AHUM,ASJ
250-141 1.1 |M25%045| 3.45 55 T8 ASPV. ASPVM,BCFM,CBN-ASPV
251-141 1.1 [M25x045 3.45 6.0 T8 AHU,AHJ,AHJM,ASJ,CPC,BCF,AJU
ASR,ASRM,ASR%% ,AHU,AHUM,UEX,AHJ
412-141 2.9 |M4x0.7 5.5 7.5 T15 AHIMASJ AJU
412-143 8.0 |M6x1.0 8.5 12.0 T25 |AJU
555-141 4.9 |M5x0.8 7.0 10.5 T20 | ASR,ASRT,AHR,ASDF,ASDH,ASF
MXSS2T M25x0.45 3.5 4.6 T8 NIX3
MXSS4T M4x0.7 5.5 6.6 T15
581-140 0.5 |[M2x0.25 2.5 5.0 T6
581-141 1.1 |[M3x0.35 4.4 6.7 T8 AR
581-142 2.2 |M35x035| 5.7 8.1 T10
581-143 4.9 |M5x05 6.8 9.8 T20 AR A
581-144 4.9 |M5x0.5 6.6 13.5 T20
581-145 6.9 [M6x0.75 8.0 16.7 T25 | ARPF,ARPFM,ABPF,ABPFM,CBN-ARPF
581-146 9.8 |M6x0.75 9.5 21.8 T30 |CBN-ABPF
581-147 9.8 |M8x0.75 | 12.0 25.0 T30
212-180 M4x0.7 5.8 9.0 2 Sp
831-180 M3x0.5 4.8 7.3 1.5
212-280 M5X%0.5 6.3 7.0 | M3.5 3.5 | AFE45
- bl }A
8 i
f
v om. | _100-142 V8X1.0 20 8 B 4 | Ad5E
AL 100-143 M8x1.0 17 6.5 6.5 4 ASF,A45E,A45D,SE90
% bua—) 231-140 M8X1.0 135 | 5 5 4 [SE(SIL)
f C
a 231-160 M3x0.5 5.35 8 6 2 SE(S/L)
a4 {3
¢ d
C

£ - SRRSO DEEABELGDELIZE L.

If did you confirm the stocks, please contact to our sales office.




Parts for Indexable Tools

FFEZRNTER o

— o ‘
i FyN EE%:%%'; ~ & Size(mm) EERETE
Shape ltem Code a @b c d o e f Apply to tools
100211 |[Wi0x15 | 16 | 45 60" | 35 8 [SPAR
) 151-162__ |M5x08% | 85 | 15 92° | 10 4 [ SE9
156-161 __ |M5x08 | 85 | 15 90° | 10 4 | ASF A45EA45D
o8 A= 156-162__ |M5x08% | 8.5 | 15 92° | 10 4 | A4SE,A45D
: 200150 |M6x10 | 85 | 205 120° | 175 | T20 | ARARB
571-141A_|M6x10 | 8.7 | 18 60° | 12.7| T30 | BCFASB.BCU
571-142 _ |M6x10 | 8.7 | 14.9 60° | 6.4| T25 |ASB
= o172 moxis | 16 | 35 | 25 o | ASRASRT ASRF ASRER AR ASV ASF
== AVZ—t
d
f C
: 100175 |Miox15 | 16 | 35 | 25 8 [ AHU
=
f Cd
ASRT,ASRE. RVASPV ASPVIM,ASRF
[ . 100178 woxis | 16 | 35| 25 8 | CaNASPY Ao
= 100-179 _ |M12x175| 18 | 42| 30 10
= 100180 [Wi6x20 | 24 | 51 | 85 14 | ASRTASRFRY
100-182 _ |M10x15 | 16 | 45 | 35 8 | AME
100-183___ M8 13| 33| 25 RV
| : 100212 |[Wi2x175| 18| 42| 30 10 [ AHUP
SR =
f Cd
5 [100213__|Wi6x20 | 24| 51 | 35 14 | ASRASRT ASRF AHR ASVASF
J ==  [e00211  [weoxe5 | 50 | 50 | 36 17 [ASV
f Cd
: SHOM4-10__|Max07 | 6 | 14 | 10 3 [SES)
T
f Cd

£ - MAERRF D DERANSHLEDELEE L,

If did you confirm the stocks, please contact to our sales office.




